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= 2,806,310
< 789,488
[ia 2,387,729
oiEd 2A 3,745,272 1,967,628 1,777,644
= 2,047,560
< 561,863
[ia 1,135,849
s 25 40,928 40,646 282
101 @14l 18,928 18,646 282
M4 JI2ZHZEXNSES 18,928 18,646 282
OLSYSEY AAR 28 18,928
—Jles 69,7603 x 12 200! 13,952
Fed 69,7603 x 1«30 2,093
—Hlx=g 69,7602 » 13 8 559
—4HEE= 16,600, 0003 *14% 2,324
201 Let24dH] 4,600 4,600 0
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Ox=ZAAMN ==2(850/XY, otd=)
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OEYEE AMEZMHH A =2
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03 Al =AY R =& 2,500 2,500 0
OstZES AHMFA 2,500,000& 2,500
301 LEXZ 9,700 9,700 0
09 HALAHIX A S 9,700 9,700 0
OXNHES MOILE EIOtA 24
50,0003 »5H x4 1,000
ONHESEHZ SdEIGEHA B&3
15,000& 500 7,500
OBEL5UM S S#ZNSH DS BA 24
= 40,0003 x10H 3 1,200
307 gl2tol & 5,200 5,200 0
02 IZHE M AHE X 5,200 5,200 0
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201 L2l 27,372 22,800 4,572
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2,480& x1,40024 3,472
o232 IS B8 JFe 1,000,000 «2CH 2,000
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Jl, WXl S) 700,000& x1= 700
301 et A =2 6,016 4,000 2,016
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12 JIEtE &= 4,000 4,000 0
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2 5) 50,000& *2024 1,000
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—otEMY D FIAMY =25+
PPOLCH Xt 5002 6, 0004 3,000
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= 2,500
s 2,500
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—2A4EHE 2 Oel2IHEAM 29X
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4,500
1,000
3,500

MR

SX(0IETHE) 9,000 0 9,000
O=HIEx= ALY 9,000
—HII0IER B 1,800, 0003 »5CH 9,000

4,500
1,000
3,500

HH

Mo
02
_>'|_|
=
IA]
S|
[>
>
0y
>
©
H
o
o
10
_>'.|_|
B

J| HIXt) 480,000 225,120 254,880

288,000
48,000

o




o

e e ox

2N
X ZH -
L= B

el

o
o & H0
(O8] o Of
o=
o

rr

o

0

P

0x
.

ir
x

CHE - EI(BA) - NRAY - BYS 0l &k o4

=

M
2Hm
==
£l
Ol
0y

HJ

144,000

402 212t Xt=01 & 480,000 225,120 254,880
288,000

48,000
144,000

MR

02 U TEALEZ(0IETHR) 480,000 225,120 254,880
O=HIEx= ALY 480,000

& JIHX K&
1,600,000 «300CH 480,000

288,000
48,000
144,000

10
>
A

Mo

I HEIHA M2 AL (OPF 2 3) 190,000 24,199 165,801
95,000
28,500
66,500

MW

402 212t X201 & 190,000 24,199 165,801
95,000
28,500
66,500

A

ANSEZ(OIEHE) 190,000 24,199 165,801
T A 190,000
g

(e}
N
O re
oo
o
r

Hr

|
>
oy
pal
S
e)
m
Bl
]
=
o

3,800,000 «50CH 190,000
95,000
28,500
66,500

Mo A

I HEILA HZ AL (FE 12 DPFRE) 33,000 0 33,000
19,800
3,300

9,900

gl
J

Mo A

402 BI2FX=01 M 33,000 0 33,000
19,800
3,300
9,900

MR

SX(0IETHE) 33,000 0 33,000
At 33,000
—A&I/A OPF 2= K& 11,000,000 «30H 33,000

19,800
3,300
9,900

MW

28I SIS HZAMG(AEI1H AT DA 66,000 33,000 33,000
39,600
6,600
19,800

MW

402 212t X201 & 66,000 33,000 33,000
39,600

W




SH: BHAMD
MM AN Mol 83X
Shel: Kl 2 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 6,600
= 19,800
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—AAJAH AXDH K& 16,500,000 4CH 66,000
= 39,600
& 6,600
= 19,800
SAX BHEIIA M2 ALY (LPGSHS XF AN XY X ) 34,790 34,790 0]
= 17,395
& 5,219
= 12,176
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& 1,200
= 1,200
02 CI2ZtXIE AL E X (0| & THS) 2,400 0 2,400
OEZHEXZAY 2,400
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 M= 4l 45,000 44,400 600
OOt ESE IloH2 M 22,2003 *2,027 4 45,000
OrMESSIol 2 &AL 19,996 26,000 26,004
< 4,830
[ia 15,166
302 OI=LTHOHE & = 19,996 26,000 A 6,004
= 4,830
i 15,166
02 IAQITHOH A =S R ESENS 19,996 26,000 A 6,004
OEHIEXZAY 19,996
— Ol ESE T4 999,800& *x20H 19,996
< 4,830
s 15,166
OrM S SIlol B A AFY (KHA) 8,000 8,000 0
302 Ol THoH E & = 8,000 8,000 0
02 QIZHITHOH R EFR &S 2N S 8,000 8,000 0
OOtMES= oIl 2432 4,000,000 x2H 8,000
OrME=2 Toi Xl 47,280 47,280 0
201 et 4,320 4,320 0
01 At 22l 4,320 4,320 0
OROIEsSE telZs Sl
8,000& *10H 402 3,200
ORMOIMESE el L& T=sHI(=)
40,0003 28X 1,120
301 LA S 42,960 42,960 0
09 HALAHIXI &3 960 960 0
OROIdEsSE UelZat 2932 4L 2
a3 8,000& 30 x43| 960
12 JIE24 3 42,000 42,000 0
ORI sSE tHelZzsl 24= 42,000
— SUEH X 80,000& x3000}2/ 24,000
— ety 30,000& +6000t 2/ 18,000
BEEN LAY 2,238,255 2,445,758 A 207,503
= 758,750
= 227,625
s 1,251,880
SSEY X ¢ | 595,615 1,063,576 A 467,961
307 giz2tol & 229,900 0 229,900
05 QI2te & 229,900 0 229,900
OZEsEA 29 B2
3,025,000 *76H 2 229,900
401 A& HIZ 201 8] 365,715 751,576 A 385,861
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01 Al&H| 363, 100 748,060 A 384,960
O=2&s3&a Al 150,000,000 =10 A 150,000
Ox=AHAGIH A 10,000,000 *3JH 2 30,000
O=2&ss&a = 20,000,000 x40 2~ 80,000
OZ2=3&A @2=HelAl&E A
4,000,000 1004 2~ 40,000
OB &EA & HE =AY
700,000 x76JH A~ 53,200
O0ls4 2t0lst X .35
300,000 *33JH A~ 9,900
03 A& E20HH] 2,615 3,516 A 901
OA&E=2UHE I 363,100, 000& *0.72% 2,615
S SotaA &g 110,200 106,400 3,800
201 et d| 45,600 41,800 3,800
02 E=22%H| 45,600 41,800 3,800
OZ2=S&A HX A2
200, 0003 *76JH 2~ 15,200
OZ2Z&A 2222 ¢ MHA
400,000 *76 4 &~ 30,400
206 M = Hl 64,600 64,600 0
01 M =4l 64,600 64,600 0
2L gHEF 1l 170,000 x76H A 12,920
O2Fs&a HOAsEE 22 170,000 764 & 12,920
OZ2ZS&EA AMEE 22 170,000 764 A 12,920
O=2s3&a sHilstss 7Y
170, 000& 760 2 12,920
OZ2=S&A EA4E3 22 170,000 76 A 12,920
Sdl0IE HMe2lX& 1,517,500 1,224,750 292,750
= 758,750
< 227,625
= 531,125
207 I & 20,000 0 20,000
= 10,000
< 3,000
= 7,000
01 A& | 20,000 0 20,000
OZHIEXZAY 20,000
— SHO0E AENZAI Y 20,000,000 14! 20,000
=2 10,000
&< 3,000
= 7,000
402 SI2vXHE0| & 1,497,500 1,224,750 272,750
= 748,750
& 224,625
= 524,125
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 1,497,500 1,224,750 272,750
OZHIEx= A 1,204,000
=& SHO0E #)1 HMel
3,440,000& »350= 1,204,000
= 602,000
< 180,600
s 421,400
O=HIEXZ AL 121,500
— =8 XS WS (HLAHE)
6,100,000 »15= 91,500
= 45,750
< 13,725
s 32,025
— =8 XS N (LeAHSs)
3,000,000 *10= 30,000
= 15,000
= 4,500
fia 10,500
O=HIE= At 172,000
—HI=&8(~50m) SI0IE EH Ml
1,720,000 20 34,400
= 17,200
= 5,160
s 12,040
— HI ==& (50~200m ) S20lE EAH HMel
6,880,000& x20= 137,600
= 68,800
< 20,640
[ia 48,160
s JIIEER BE 2 14,940 51,032 A 36,092
201 Let24d] 12,540 11,340 1,200
01 At 22l 12,540 11,340 1,200
ONESLUEAL NSHAS AHTIY
e 30,0002 x50 4 1,500
OJelst=XelAlE =ZZAt =S 7
7,000& 2004 1,400
OJelot=XelAlE HA0H2 =2l
600& *3,0000H 1,800
OJelote & JI=E2R EE5RF II=H
200,000 x5H x43] 4,000
OMOUGHS % JERL BYHS oz S|
8,000 *4H 1202 3,840
202 044l 2,400 2,400 0
01 = LH &4 1l 2,400 2,400 0
ON==2h HEAIE & Jigot=HelAlE K&
83 20,000& »4H »302] 2,400
WG MEsd x4d 8,622,649 8,540,480 82,169
= 972,000
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= 147,500
= 7,503,149
MY 2 L HEE 2,879,232 1,904, 167 975,065
= 42,000
&< 147,500
= 2,689,732
MYD REHED| HH 109,580 98,280 11,300
201 gBt24d| 62,740 44,020 18,720
01 AP 22| H| 12,880 12,880 0
OMYIIl SYED| o 2|
8,000& x3H x120 2,880
OMYJl S8ED Y s22 H&
2002 *10,0000H 2,000
OMYID 4SEIINY Hom &R
250,000 *200H 2~ 5,000
OMYIIHEX 2Y AZE FA(HAE s)
3,000,000& 3,000
02 E2=224%H| 49,860 31,140 18,720
OMHD S YEED S 49,860
— 2ZHAIJtOI2H Y THE XIS (20CH)
2,100,000 ~12& 25,200
— 2ZAIIH0ICH 29 &II2Z2 180,000 +12& 2,160
— 2FAIDH0I 2 e gyl A X 30,000 = 10CH 300
— 2ZAIIH0I2H 2 HY AIEE
32,000 x50 A~ «12& 19,200
— 2 AIIHHI2E T Y Ol & & Xl
150,000 »20CH 3,000
401 AlEHIZL £ 0HY| 46,840 54,260 NT,420
01 Al&H| 46,840 54,260 AT ,420
O0lsAl 2ZAI9H0H 2t ¢ 6,000,000 =2CH 12,000
O2AIItHI et & X 2,500,000 =10CH 25,000
OZAIZt0ICH Ol & X 500,000 = 10CH 5,000
OStHANEE2S 2 242,000 x200H A&~ 4,840
MEMY I =4 L Xl 2,226,356 1,520,887 705,469
101 e1214| 212,687 209, 291 3,396
03 RIAHEZZXE > 18,400 17,900 500
OFAZSAX HIISHEAIE AS &R o] 3,400
— Al | 8,000& *50H *13] 400
— WEH| 40,000& 508 13| 2,000
— A& etz 20,000& 504 13| 1,000
O&tzd0lstgd s Is| 250,000 *30H *23| 15,000
04 JI2ZtHIZ22NEE S 194,287 191,391 2,896
Oge? JI28A & WEESE = 159,054
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—Jles 69,760 x8H 200 111,616
T4 69,7603 x8H x40 22,324
—Qlx=g 69,7603 x8H 102! 5,581
—EEZ4UEE) 139,520,000& *14% 19,533
OsletXl MYl =H(OIRH, otojHH) 23,542
—Jl=s 69,7603 x4 60 16,743
-5 69,7603 x4H 122 3,349
—di=< 69,760& x4H 2 559
—EE=Z4UEE) 20,648,960& *14% 2,891
ORXU KyI S2H =& I XN (0tA
B, oro|d) 11,691
—Jles 69,7603 x6H 142 5,860
—52dZ2RE 69,7603 «6H 7 «150% 4,395
—EEZ(4UEE) 10,254,720 * 14% 1,436
201 L2l 419,750 366,920 52,830
01 At 22l 123,570 118,330 5,240
OFAZH P& & =4 120,000& »10& *23| 2,400
OXgJl s & Zs 222 MH
250,000& *45 +43] 4,000
O12 83 MEAN 822 MH
6,000& 2 x4, 0004 48,000
OSAER HIIS=+A LA EE2
625,000& x45 +23| 5,000
OHIIE+=H 282 2&  250,000& «11H %23] 5,500
OMeII=A SE2RIH(FLS)S 4
8,000& x6H 602! 2,880
OFAE A28 7 (¥, 0tA3 8)
1,200 *30H 240 8,640
OFALSAX MEE (AT S)
250,000& = 12& 3,000
OSAER HIZE 2e=AH &I 7L
5,000& =1,000H 5,000
OMEgEs8 Bel+=AHEIUBEER)
340,000 100X 34,000
Od0lstd Pt EA HI| SR
400,000& 123 4,800
O« . 29 WM Ol SZEIIG +2
70,000& x5¢I 350
02 =224l 296,180 248,590 47,590
Oxtg 2 233,100
— HAXS(130) 1,400 *304 *13CH*300 163,800
—MHMEESE =HXHZ(3H)
1,400& 304 *3CH*150 18,900
— ZHI(E&H, KAL)
1,400& 304 *2CH*100 8,400
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— Xg, &H HHRAN L A28 2
2,000,000 =21CH 42,000
OBES(HIIZEA, RNESAM EsH)
1,000,000 x21CH 21,000
OJIEIZZ22(EEINEEES)
65,000 x16CH x23] 2,080
OMY D HHEXE Z2Z22 A= (61HN)
40,000,000 =14l 40,000
202 04| 19,776 19,776 0
01 2L HI 19,776 19,776 0
oMeEss8 Ml ¢ 25 24 000 x2H x12& 576
OMetMY D] el & 25
200,000 x8H x12& 19,200
206 M = dl 91,430 81,400 10,030
01 X2 Hl 91,430 81,400 10,030
OMYI SH sSEMHE 80,030
— o2 25 (32lH) 312 %10,0000H 310
— B2 25 (52lH) 342 x40 ,0000H 1,360
— st 25(1021H) 422 %180, 0000H 7,560
— B2 25(202/H) 602 *420, 0000H 25,200
— st 25 (502l H) 130& «20, 0000H 2,600
— B2 25 (752lH) 180! x100, 0000H 18,000
— 2Bt= PPECH(502IE) 500& *50, 0000H 25,000
OJz&8A & 238 PPEM M
800& %8, 0000H 6,400
OSA22 HIIE +42 YLLE(F) M
50 100, 000K 5,000
207 SO0 £ 68,000 48,000 20,000
01 4| 48,000 48,000 0
OSAZER HII2 &H 22AS AIZEHA 2
& 18,000, 000& = 1Al 18,000
OSAZSE HII2 =) QIA9e 2IIaE 8
& 18,000,000& » 1Al 18,000
OMEHII= £=& - 2E (HEGH B 29
12,000,000& = 1Al 12,000
02 & AHJH EHH| 20,000 0 20,000
OUEHII=E = QIgH4Y 2FEHAI D AlAE R
= 20,000,000& = 14! 20,000
301 et M3 30,000 0 30,000
12 JIEtE &= 30,000 0 30,000
OSZHHY +7 - 29 243
50& *600, 000kg 30,000
303 ZAZ2 2,100 2,100 0
01 Za32 2,100 2,100 0




SN HEAMD
M NG MEBEE X4
Sl MyI 2T U HES CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OMEZE(EsHIIS)=E 2453 Ala 2,100
— X 1,000,000 154 1,000
- £ 500,000 15 ™ 500
—-& A 300,000& x25 ™ 600
307 212t0| ™ 1,172,613 743,400 429,213
05 QI2t &2 1,172,613 743,400 429,213
OSAZER® HII=2 fIE XML
170,000& *2,400E 408,000
OSAZER HII=2 =& - 28t 202t &
764,613,000& » 1Al 764,613
401 Al HI L E0HHI 50,000 50,000 0
01 A& H| 50,000 50,000 0
OMdJ HHEXE &X 10,000,000 *2JH A~ 20,000
OMHD BHEXE N 2,500,000 1200 A 30,000
405 KHoHFE S HI 160,000 0 160,000
01 XA 2B F S| 160,000 0 160,000
OFAXY 22 160,000
—MEEE &1 EH 80,000,000 *2CH 160,000
2SHoty &= XN 100,000 0 100,000
2 30,000
& 30,000
= 40,000
401 AlEHIZL 2 0HY| 100,000 0 100,000
= 30,000
< 30,000
= 40,000
01 Al&EH| 100,000 0 100,000
OZHIEXZANY 100,000
—d=sHHY 286t AX
,000,000& 200 & 100,000
2 30,000
= 30,000
= 40,000
sZEHHY =242 X 84,000 75,000 9,000
= 12,000
o= 9,600
= 62,400
301 et M= 84,000 75,000 9,000
= 12,000
=} 9,600
= 62,400
12 JIEtE & =2 84,000 75,000 9,000
O2HIEXZ ALY 84,000
— HHlY =24l A& 70& *1,200,000kg 84,000




AN 23D
Hu: HNE MEHY N
Belr X0 2 X HEE (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
= 12,000
=) 9,600
= 62,400
MEHIIZE 2l - tHE =00 At 150,296 150,000 296
[ 45,000
= 105,296
101 1Al 141,296 144,000 A2,704
< 42,300
= 98,996
04 JIZtHZ22 s+ 141,296 144,000 N2,704
OZHIEXZAY 141,296
—MEHIIES 2 HE ER0ALY 141,296
-JlEs 69,7603 x 15«90 94,176
= 28,165
s 66,011
Fad 69,7603 x 15«18 18,836
< 5,651
= 13,185
s 69,7603 15 52 5,232
) 1,569
[Ea 3,663
JHEE = 118,243,200 * 14% 16,555
< 4,966
= 11,589
- II=Hl 8 106, 100& »15& 1,592
=) 478
i 1,114
ZU22 =<
8,720 15 25 Al 2t+150% 4,905
=) 1,471
s 3,434
201 Let24E] 9,000 6,000 3,000
< 2,700
= 6,300
01 AFR 22l 9,000 6,000 3,000
OZHIExAY 9,000
—MBHIIS 2 s 222 ME
1,000& *3,0000H 3,000
< 900
s 2,100
—SASFE HIJIS 22 - tis 228 M&
1,000& *3,0000H 3,000
< 900
s 2,100
— 1323 MELN EES MH
1,000& *3,0000H 3,000
< 900
s 2,100




2N
X ZH -
L= B

el

B2 M
WG MBEE TN
MY Y Y HES

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
HEES = L ESAEY 75,000 60,000 15,000
< 22,500
s 52,500
201 £B-2d| 75,000 60,000 15,000
< 22,500
s 52,500
01 At 22/l 75,000 60,000 15,000
OEHIEXZAY 75,000
- HEESE 4y 22AY
4,000& x5, 0004 20,000
< 6,000
[ia 14,000
—AX 2ESAL 275,000 x200H 55,000
< 16,500
s 38,500
IsHII=: =H - ®Mel A 133,000 0 133,000
< 39,900
[ia 93,100
201 Let24d] 133,000 0 133,000
= 39,900
s 93,100
01 At 22l 133,000 0 133,000
OEHIEXZ ALY 133,000
~gsHIIE 40 - Hel 242
350,000& *380ton 133,000
< 39,900
i 93,100
MHesEs =80 A FH X3 At 1,000 0 1,000
< 500
e 500
307 glz2tol & 1,000 0 1,000
< 500
s 500
02 It MAMHEE 1,000 0 1,000
OZHIEx= AL 1,000
—MHEESZ =T HEEH XA 1,000
OFM ZHI(OFZ =), S&0tAT, OFE=E
o) 100,000& * 104! 1,000
< 500
e 500
HIIZ MelAl& 5,743,417 6,636,313 A 892,896
= 930,000
s 4,813,417
HIIZ2 XMelANE 29 2,307,439 2,684,641 A 377,202
101 @124 4] 507,073 481,991 25,082




SN HEAMD
HMu: NE MBEZ TA
S HIIE MelAl4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 RIAHAZ 22+ 4,700 10,700 A 6,000
oNggdY 22X II=SH(82E)
250,000& x3H *23| 1,500
OAZLS (NN, 2L S) 2e DY
800,000& x4H 3,200
04 DIt Z2XREES 502,373 471,291 31,082
OMdEHIIZ & HEESF HE 495,373
—JlZ2s 78,1203 14 250 273,420
-5 78,1203 x 14 x50 54,684
— XY 78,1203 x14H 11 12,031
—Zh+=(E)
9,765 «14H x50 +4 Al 2+ 150% 41,013
—FL2f<(25Y)
78,1203 *14H «152 «150% 24,608
—EBE=24UEE) 405,756,000 *14% 56,806
— &&= 78,1203 x14H 30 32,811
OMEBSHE22X T=HI(JI2HA)
250,000& x14H #23| 7,000
201 Let24d] 307,700 275,200 32,500
01 At 22l 222,500 214,800 7,700
OHJIE MelAlE 22X =&l
8,000& x»4H 175 5,600
Olg® =5 2 XA I Xz 98,400
— =4 640,000& =103l x12& 76,800
—HZTEH 900,000& *23| x12& 21,600
OUEAE g3 FHISBMN =2 (HIIS2e
) 32,800
— &&=+ 350,000& *40H 2 x123] 16,800
— Xl o= 250, 0003 12K A %4 3| 12,000
~XNE4 500,000 *27} 4 *43] 4,000
ONBEZ WAL (0I2,7AR) ASSE
A =2(HIIS22Y) 46,800
—&ot=d =8 6,000,000 24 A %13 12,000
—HEHIIE 24 1,200,000& *6H 2 13 7,200
—&dE=+ 350, 000& *2JH A x43] 2,800
— Xl ot== 250, 000& 64 2 *43] 6,000
- NE= 500, 000& x40 2 *43| 8,000
—ELQIAT A 1,200,000& *8IH 2 13 9,600
— AL JIAES 300, 000 *4H 2~ *13] 1,200
OWEAIE At=22[EI1d AL 7,000,000 13l 7,000
OHJIEXelANE 222 2 150,000 x4H 600
ORABHIAMAE MHIAZ 950,000& =122 11,400

OHIIS™el Al &

40
o
0x
08
S

TA =2

3,000,000& =12 3,000




SH: BHAMD
M NG MEBEE X4
S HIIZS HelAl& (2 &HH)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@i HRE2
QHIISXMelAld Mot 28 2
3,000,000& x23| 6,000
QHIISXelAld Mot 249
4,200,000 1Al 4,200
QHIISXelAld pddgEAH2e 29
4,000,000 « 1Al 4,000
OHJIZECANE 22X OIIAE HEES
180,000 15X 2,700
02 2224 H| 85,200 60,400 24,800
QHIIZS(MHE, HES)AE 2222 HA
3,500,000 12& 42,000
Ost=2HIISg s (HIIS22el 8 X58%22)
= 2,000,000 *13] 2,000
OAAEZH SXH(HE, HESAIA)
500,000& *x 105 *13] 5,000
QHIIZs8xeld d2d(HH S S)
1,900 %204 *3=+100L 11,400
OHJIZXMe &R 2el 24,800
— XNESSH(ELH,XANXNHS 401)
1,400€ *x302| E4*4CH %100 16,800
— XFEH S |SAH| 2,000,000 =4CH 8,000
206 M Hl 82,760 97,760 A 15,000
01 =4l 82,760 97,760 A 15,000
OoMeEs4dHe A28 22 100,000& x105 43| 4,000
OMeE=E A2 HEEZl RY(1E)
10,000 x5000H4 5,000
OHJIZ2 MEAE =SEM 7
2,000,000 x53| 10,000
OPETE =D 25 E2H 2¢ 2,500,000 *x1& 2,500
QHIISHEIAlY A Z(ASH 12 )
30,000 *x200= 6,000
OMEAIE &M FL(XHAMAHE 208 )
60,000& *100= 6,000
OZE4 HelAd dERA(NMR,IE) 25,100
— HiBPHCS( 2 AH)-Al R OHE & 250,000 x50 12,500
— Db ACH(H A 300,000 x26 = 7,800
— HSIHI2E (HA 200 /E) 15,000 x120= 1,800
—EFE dFHANHE ELE 4,000& x500kg 2,000
— X0 AALIES (M A 20,0002 *50= 1,000
OMgEssdAy 2 AQE (X2, 0lA3
s) 504,0002 x40H 1 & 20,160
OHJIZ HMelAldE 3 &7 2
400,000 *43| 1,600
QHIISHEAIY HOYEE R (SEHX S)
600,000 43| 2,400
207 A0 | 19,000 0 19,000




SN HEAMD
M NG MEBEE X4
Sl HIIZ MelAld (=& J)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 2284 19,000 0 19,000
OR1X Mezg FHHE 228
19,000, 000& 14! 19,000
308 AHXIEHHSOIA 186,150 186, 150 0
07 IXNHMAR S = 186,150 186, 150 0
OdEHIIZ HERES 186,150
—MEHIZS &2 10,000& »18= »365 65,700
—MEHIZ2 e 15,000& x18E »365 L 98,550
—Jd&HJI2 e 30,0003 x2=+3652 21,900
401 AIEHI L 2CHEI 1,184,756 1,070,540 114,216
01 A& tl 1,184,000 1,070,000 114,000
OUEMEHII2H2 82(3,333E)
1,000,000, 0003 14 1,000,000
O(MF,JIE)EAIE 22 20,000,000 *13] 20,000
ONEs dEAME Ex(25D] &)
2,500,000 2& +23] 10,000
OHJIE ™MelAl&E W ZHl =4&4l
5,000,000& »23| 10,000
OHJIE XMelANE 839 AdFZH Al
5,000,000& »23| 10,000
OMZBUHEH(AAAZ)ZEES HMel AIE HE
- 34,000,000& =14 34,000
OO0l22AHMHEH MEEE JlE & AAEHN
29 100,000, 000& * 14! 100,000
03 A& S THHI 756 540 216
OHJIE MelANE MIFE ALRUHBHI
84,000, 000& x0.90% 756
405 XHoHF S HI 20,000 573,000 A 553,000
01 AL EZFH S 20,000 573,000 A 553,000
Oongs4dg gtAa 2 2,000,000& 54 10,000
OHJIgdel Lds((bE)%Aa Y
5,000,000 24 10,000
HII2 22AE 29 835,978 851,672 A 15,694
101 14l 156,187 162,041 25,854
03 RIAHAZZ2HE = 4,900 6,400 A 1,500
OSZANESAMI HIISA2AE S FIHA
24 95,0003 x 10 2 1,900
OA22ANE2d 22X I=SH(S2H)
250,000 x6H 23| 3,000
04 JI2ZtHZ22HEE = 151,287 155,641 A4,354
OLZAE 22 142,006
—Jlas 78,1203 *3H 250 58,590
—F5d 78,1203 x3H 50 11,718




SN BEAMD
HMu: NE MBEZ TA
S HIIE MelAl4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—Hx==g 78,1203 x3YH x 15 3,516
—ogaesy
9,765% x3H *80OAl 2t 12 x50% 14,062
- znaesy
9,7653 *3H x50 Al 2t 12 »150% 26,366
~5Y224Y(ZEHY)
78,1203 *38 152! «150% 5,274
—gaeIIsSA AL (LA2HESEL &
el)=¢ 100,000& x3H x12& 3,600
— g 40,0003 x3H 128 1,440
- EBEE4UEE) 124,566,000 * 14% 17,440
OA2AE 29 JI2H22 X A2 H &
250,000 »3H 750
OA2ANE 29 JIZH22X EXH=
78,1203 »3H x302! 7,031
OA2ZAER2Y 22X TSHI(I12HH)
250,000 »3H 23| 1,500
201 LBt 412,008 422,748 A 10,740
01 At 22l 148,040 108, 140 39,900
Ot HIAT HIIZ Mel I =2
700,000& x110&€ 77,000
oIy Mt EF A 442
1,320,000& x523| 68,640
O22ANE ARES ¢ 200,000& =123l 2,400
02 =24l 263,968 314,608 A 50,640
OHIIS (AL, e, HES)AE 2323 HA
15,000,000& =128 180,000
OFEIIGEAA =2 (A LH FII2AH L
2AE=%) 700,000& 123 8,400
Ol4+T 23 (Y24, MBBL S)
500,000& x12& 6,000
O4g NMEA(RSIS ¥ ZSZY B)
=== 900,000& *23] 1,800
Oagotdzte] dRUHHZ 180,000& = 12& 2,160
O22ANE 28 |RFH 1,700,000& 128 20,400
Oo2ge =2 34 S 1,500, 000& *43| 6,000
O3J1g=) "XE+ 3,000,000& x23| 6,000
OL2ZAIE A& &8l SXHl 1,000,000& 128 12,000
OHJIEXelAE HIILH |RXNE=H]
334,000 128 4,008
OmJIg A2d2els 3L sh2e ==5(
HIIZAN & RAE2) 200,000& 122 2,400
OA22 JAHEH s 2
300,000& =63l 1,800
O222 JIHEH |RAES> 425 7¢
1,000, 000& *43| 4,000




SH: BHAMD
M NG MEBEE X4
Sl HIIZ MelAld (&)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OXZNE 0= 58 242 (=gadus
2 222 JE) 6,000,000& x13] 6,000
OS1Y =&4dH AEEE 2 WHE 2 (A
JlotM el Xt AR DAl 2016.7.28)
1,000,000& =33l 3,000
202 odl 1,440 1,440 0
01 = LH o4 1l 1,440 1,440 0
OBHINZNE(AAZ S) YLFT o A3
60,000 *4H x62 1,440
206 M= Hl 22,600 21,700 900
01 M2 4l 22,600 21,700 900
OA2ANE 28 435 ¢ 19,900
— gl DEE AMI (2L 20kg/E)
20,0003 502 1,000
— EAAUSE HH AASF 500,0003 12 6,000
—3gE8 24 1,500& *3,000kg 4,500
—oIsa HMHs 2LeEygE
500,000& 123 6,000
— 22 F2H 50,000& *30= 1,500
—ol2unsa=X 3,000& *3004 900
OAZAM HNMEE Y188 SXOtAT, &
s 8) 300,000& x9H 2,700
401 AIEHI L 2 CHEI 243,743 243,743 0
01 A& HI 242,000 242,000 0
OA2ANE R .E= 15,000, 000& * 13| 15,000
A2t2 SWEH OE DM (XH)
52,000,000& =13l 52,000
Ox22 U2 1 28 B+
40,000,000& *13] 40,000
o222z WEd A 75,000,000& x13] 75,000
oAz ARFE KA - E=
20,000,000& x13] 20,000
O22AZ2 22F DHM(BALE S)
20,000,000& x13] 20,000
OL#HIl | - 2= 20,000,000& =13l 20,000
03 AlE 2 THHI 1,743 1,743 0
OHIIE A2AIE AHFA AIERUAHI
242,000,000& *0.72% 1,743
HIIZ WAL 28 LAY 2,600,000 3,100,000 500,000
2 930,000
[ia 1,670,000
403 A X EHHS K20l A 2,600,000 3,100,000 500,000
= 930,000
[ia 1,670,000
02 SO 2SOl CHEH A2 X 2| & A I 2,600,000 3,100,000 A 500,000




AN 23D
HMu: NE MBEZ TA
Ehel |2 HMelAl4 (&)
A ZE a9 (3) - HRAY - By Ol &+ o4 SSa HmEET
OZHIEx= At 2,600,000
—HJI= HEAE 28H &AM
2,600,000, 000& 14! 2,600,000
= 930,000
[ia 1,670,000
Al M OtM 666,376 724,776 A 58,400
= 57,498
< 19,210
s 589,668
ASMOIE & ZISHA 2 666,376 724,776 A 58,400
= 57,498
< 19,210
e 589,668
= FAdga 2el 480,180 274,980 205,200
201 L2l 166,240 43,440 122,800
01 At 22l 166,240 43,440 122,800
OUAT EHE AMBE 2
10,000& *2, 0004 20,000
OMESIMAA B2 S 1Y
0,000& *50004 2= *53| 25,000
OAsS=sHE 882 2 1,500& *1,000H 1,500
OMES HEAS HEEY A% 2
50,000 =304 1,500
ORAMZAIR ZA=E F 50,000& x20H 1,000
OYHISATHAE MDS S22E
10,000& 500 = 13| 5,000
OfAMAA OF2tE= ISl 200,000 x5H 1,000
OcgH(AMAA A Op2r et =)
8,000 *4H %1202 3,840
ORSAE R 3,500& #2002 *6H A~ 4,200
OOZOIAZHRLSIHATNT HE L 24
200,000& =44 800
OFANSAE Az At
20,000 *700H 2 1,400
OXHSAE AZetH &
10,000 »1000H 2 1,000
ONAZCHY SAMI3 HEAY EZ2(OHCH Al
) 400,000 *2500H 2~ 100,000
202 O4dl 4,800 4,800 0
01 = LH YI 4,800 4,800 0
O/ NS 20,000& »4H »602] 4,800
301 LEXZ 9,140 11,740 A2,600
09 HALAHIX RS 2,640 2,640 0
OAMEQFES & AL S &AL MWK A3
2,000,000& x13] 2,000
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SH: BHAMD
HE: MBS MOH
SHelr ABPIMOIE U BEYA B2 (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—SEAE DAY (BHAIY)SAH
149,666% » 128 1,796
= 898
s 898
301 LEHZ 4,000 4,000 0
= 2,000
< 1,360
s 640
12JEEd = 4,000 4,000 0
OZHIEx= At 4,000
— ALIO Z2AIY 23Hl 50,0003 4% »202 4,000
= 2,000
S 1,360
s 640
010l JIsAas dgaeld 29 4,000 4,000 0
= 2,000
< 2,000
301 LEd = 4,000 4,000 0
= 2,000
< 2,000
1224 = 4,000 4,000 0
OZHIE= A 4,000
— 020l JIsSAE dgacd sl
50,000& »4H 202 4,000
= 2,000
< 2,000
Helol a2 XNJALH 4X 22 105,000 118,600 A 13,600
= 52,500
< 15,750
e 36,750
307 glz2tol & 105,000 118,600 A 13,600
= 52,500
< 15,750
e 36,750
05 RIZt2E = 105,000 118,600 A 13,600
O=HIEXAY 105,000
— 020l sS4 NJAdH 29
105,000,000 1K 2 105,000
= 52,500
< 15,750
[ia 36,750
FMEE otE 2te| 200 200 0
=2 100
= 100
202 (44l 200 200 0
= 100
< 100




SH: BHAMD
M AZSMOH
SHelr ABPIMOIE U BEYA B2 (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 = LH 4 bl 200 200 0
OZHIEx= A 200
—AMES HH 22 20,000& 10 200
= 100
< 100
HRas(sdeldn) 4,351,291 4,896,674 A 545,383
HEAHHK = 4,351,291 4,896,674 A 545,383
a dE3 4,351,291 4,896,674 A 545,383
701 JIEISI HSHES 4,314,291 4,859,674 A 545,383
01 JIEtEI A =2 4,314,291 4,859,674 545,383
SENLSHEH BE2 4,314,291,0002 4,314,291
702 JISEEZ 37,000 37,000 0
(O RIE=RSE= 37,000 37,000 0
OHJIEXMAE ZBEISXNAINS(MAIISE
o2 EHOH X 2l 10%) 37,000,000& 37,000
BHSYAH (YD) 133,891 133,891 0
Jl2Zl 133,891 133,891 0
Jl2zl 133,891 133,891 0
201 Let2d] 64,131 64,131 0
01 At 22l 64,131 64,131 0
ORABNH 1,831,000& x29H 53,099
O= &l 5,800
— E204ltl 8,000& x29H »25! 5,800
O=ADIL Xt 5,232
—ZA=S A 286,000 x1CH+128 3,432
— SHWEALD] 150,000 » 1+ 12& 1,800
202 oddl 64,960 64,960 0
01 = LH o4 1l 64,960 64,960 0
OZHoiHI 120,000& »29H «12& 41,760
O 22 ¢ di 100,000& »29H 8 23,200
203 &R =T Y| 4,800 4,800 0
04 EN2I LRI 4,800 4,800 0
ORAM2IYRFLH 400,000& x12& 4,800




